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One-step: S3

- @entifying Graphg

Choose the correct graph that best describes the solution for each inequality.

) [x-1]|<4 2) |x+3|>9
d | | | | | | | | A | | | LN
a) ( ¢ _|_|+|_|_> =) I s s B[ B E I B
5 -4 -3-2 -1 01 2 3 4 5 6 7 12 6 0 6 12 18 24
by +Ht+é+—4+—+—+—+—+—-+++++> b) €—+—+—o—"t—"t—++—"A—o—4+—F—+—1+>
5-4 -3-2-1 01 2 3 4 5 6 7 -12 -6 0 6 12 18 24
o —H—+—+—+—+—+—+—+++41+1+> o “t+Ht-ot+——t—t+—t+o"t"t"t"t>
54 3 -2 -1 01 2 3 4 5 6 7 -12 -6 0 6 12 18 24
d «t+Ht+e+—t++++t+tt11> d) No solution
5 4 3 -2 -1 0 1 2 3 4 5 6 7
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30 20 -10
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36 30 2418 -12 -6
o)
36 30 24-18 12 -6
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36 30 24-18 12 -6
7) | 7x| <49
a) =+t a) —H—+—+—+—-4++++4+1+—+—+1>
4 7 0 7 14 21 28 66 44 22 0 22 44 66
b) “—+—+¢—4+—+—+"++++1+1> by <++++++++o—4+—4+—1+1>
4 7 0 7 14 21 28 66 44 22 0 22 44 66
o €«+H—H+H—+—+—+t+++t+t1t> o “t+Ht+t+t+ée+t+—+t+ott"t1
“ 7 0 7 14 21 28 66 44 22 0 22 44 66
d) <tHA—o"4—+—+—++—++++"> d) No solution
44 7 0 7 14 21 28
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